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//
// calen.h (00OOOOO0OOO)
//
typedef unsigned long ulong;
// 0000D
typedef struct {

int YY;

unsigned MM, DD;
} SDate;
// 00000
typedef struct {

unsigned HH, MM;

double SS;
} STime;
//
// 2000/01/01.5
const ulong JD2000 = 2451545UL;
//
// 00000 @O0O0Oooo) ajnd
// O00000000O0O0O0OOO
inline double JC2000(const double aJD)
{ return ((aJD - JD2000) / 36525.0); }
//
// 000 (abate) DOODOOOOODOO
// 00000 (Meeus DOODODOO)
ulong JD(const SDate& aUTDate);
//
// UTOO0O0000O0C00OOO0O0O (aUTDate)
// O000O0OA T1=TD-UT10000O
// 000000000
long DT(const SDate& aDate);
//
// 0000000 (JC) O0DOooooo
// 0000IsAp00000DO0OOOOD
// 00000O00O00D0OoOOO
double CLongit(const double alC,

const bool IsAp);

//
// 0000000 (aJC) O0OO0O0Ooooo
// O0000IsPrce 0000000 OOOO
// OD000000D0O0O(@MOooooo)o
// 0000000
double Obliq(const double alC,
const bool IsPrc);
//
// UTOO0000D000000 (aJoy 00O
// O000000000O0000O000DOO
double MAscens(const double aUTJC);
//
// TODO00000000000 (aJoy 00O
// O0000O00OO0oOOoooooo
double Eq(const double aJC);
//
// 0000000 (abT) OO0 (anUT) O
// 0000000 Decl(®°) 0000 (min.)
// 0000000000000 00D0O0
void DecEqt(const SDate* aDT,
const STimex anUT,
double& Decl, double& Et );

[9) 000000 (0)oOoOUOoOUOOOD D0ooOooooooo
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// BT_C = fmod(BT_C, 360.) * _rpd;
// calen.cpp (0OOOOOOOO) cl += A * cos(BT_C) - 0.0057;
// }
#include <math.h> cl = fmod( cl, 360.0 );
#include "calen.h" return (cl >= 0.0 ? cl : cl + 360.);
¥
typedef struct { //
bool T; double Obliq(const double T,
double A, B, C; const bool Prc) {
} SCoef; double eps = ((-5.036111e-7 * T
const double _rpd = M_PI / 180.0; + 1.638889e-7) * T
#define LGREG(Y,M,D)\ + 1.300417e-2) * T - 2.343929e+1;
((D)+31L* ((M)+12L*(Y))) if ( Prc ) {
#define GREGO LGREG(1582,10,15) double T1 = fmod(1934.*T
ulong JD(const SDate& Dt) { + 235., 360.) * _rpd;
int  ja, jm, jy = Dt.YY; double T2 = fmod(72002.*T
long jul; + 201., 360.) * _rpd;
long GREG1 = eps -= 0.00256 * cos(T1)
LGREG(Dt.YY, Dt.MM, Dt.DD) + 0.00015 * cos(T2);
if (0 > jy ) ++jy; }
if ( 2 < int(Dt.MM) ) return (eps);
jm = int(Dt.MM) + 1; }
else { //
--jy; jm = int(Dt.MM) + 13; double Eq(const double T) {
double eq
jul = long(floor(365.25%jy) = 0.0048 * sin(fmod(1934.*T+235.,
+ floor(30.6001%jm) 360.) * _rpd)
+ Dt.DD) + 1720995L; - 0.0004 * sin(fmod(72002.*T+201.,
if ( GREGO <= GREG1 ) { 360.) * _rpd);
ja = int(0.01 * jy); eq *= cos(0bliq(T, true) * _rpd);
jul += 2 - ja + int(0.25 * ja); return (eq / 15.0);
} }
return (ulong(jul)); //
¥ double MAscens(const double T)
// { /00 */}
long DT(const SDate& Dt) //
{/* OO =/} void __fastcall Dec_Eqt(
// const SDate* Dt, const STime* UT,
double CLongit(const double T, double& Dec, double& Et) {
const bool App) { double Hr = UT->HH
static const int C_MAX = 18; + (UT->MM * 60.0 + UT->SS)/3600.;
static const SCoef C[C_MAX] = { double dHr = DT( *Dt ) * 0.001/3600.;
{true, 36000.7695, 0., 0.}, // 1 SDate Date = (*Dt);
{false, 280.4659, 0., 0.}, // 2 double T = JC2000(JD(Dt))
/¥ 00 */ + (Hr + dH - 12.) / (24. * 36525.);
{false, 0.0004, 31557., 161.}, //18 double Tu = JC2000(JD(Dt))
}; + (Hr - 12.) / (24. * 36525.);
double cl1 = 0.0, A, BT_C; double D = 0bliq(T, true) * _rpd;
for (int i = C_MAX - 1; i >= 2; i--) { double L = CLongit(T, true) * _rpd;
A =C[i].T ? C[i].A * T : C[i].A; double Sd = -sin(L) * sin(D);
BT_C = C.B * T + C[i].C; double Cd = sqrt(1.0 - Sd * Sd);
BT_C = fmod(BT_C, 360.) * _rpd; Dec = atan(sd / cd) / _rpd;
cl += A * cos( BT_C ); double Ta = tan(L) * cos(D);
¥ double Tam
cl += C[1].A + C[0].A * T; = tan((15. * MAscens(Tu)) * _rpd );
if ( App ) { double et
A = 4.8e-3; BT_C = 1934.xT + 145.; = atan((Tam-Ta) / (1.0 + Tam * Ta))
BT_C = fmod(BT_C, 360.) * _rpd; / _rpd * 4.;
cl += A * cos(BT_C); Et = et + Eq(T) * 60.0;
A = -0.4e-3; BT_C = 72002.*T + 111.; ¥
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